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1. Which of the following is the most effective approach to handling an employee performance problem?
(a)Punish the employee; he/she will be motivated to improve so not to be punished

(b)Reward other employees in a visible way so the employee realizes there is a reason to perform
(c)Take a problem solving approach and find the employee work that fits with skills

(d)All are equally effective

2. Your team leader of your project team talks with key executives in the firm to gain feedback about the
project. Although there is all kind of political infighting going on within the executive team about your
project, your team is not aware of it.  Instead you are focused on the task and let your team manager
handle these concerns. What is your team leader doing?

(a)Demonstrating integrity

{b)Managing agreement and disagreement

{c)Creating positive energy

(d)Boundary management

3. In entering a new global market, under which of the following conditions would a firm be best advised to
start an alliance?

{a)When very little time exists before entering the market

(b)When the local and home market are quite similar

(c)When global integration is unlikely

(d)When a firm desires to maintain confidentiality of its technologies

4. Which of the following best describes stakeholder theory?

(a)lt is concerned with how to create effective organizational structures that align with the organizational
environment

(b)it begins by placing employees in the number one position, and asserts that when employee needs are
met, all stakeholders are satisfied

()it involves quantitative analysis of how an organization measures up with respect to the triple bottom line
(d)it is concerned with who can influence a firm’s decisions and who benefits from a firm’s decisions.




@ 21 BIIZRRIIAEE 110 BRI SHAE
% R EEEER
EHERE EEE (53D A ¢ 0202 > 85K : 3
§2H 0 R

5. You are invited to a party of a friend who has invited all kinds of people you don’t know who also don't
know each other. What is your friend particularly good at?

{a)Forging connections

(b)Cultivating brokers

(c)Developing strong ties

{(d)Mapping a network

6. An organization’s key governing rule is “The only rule is there are no rules.” Which of the following
organization forms would be consistent with this approach to organizational structure?
(a)Bureaucratic approach

(b)Behaviorist approach

{c)Clan approach

(d)Transactional approach
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